NAT 25000203 02S Tes*-?(\‘a\echwéAn Swers

® :gj i?: SL;'B‘ dy dng wdxq Y@-“Lﬁ dy S Siny dy

\’9
e
Y _usT "-0)59{ = s +0s0 =—()+| = @
@ !‘ (09) _2=7 = wrﬁ'e eqn for plane — normalvedtor s
(0,2,0) (£2,2,07 =<0,%17) «0 2,0 ~<0,0,1>)

= <2,%, 0 X <07

‘ | %
Loy A e = =41
224 |
y? @_\a’/ (219 o0z2-1| = 02,85 =2<0,,2
. ‘

| H ("’ (=0 <o\,77:<X0Y-0,2->=0 2}
'9+9-C%-D-o—a yrag=a — 2= z—g_‘__g,y <o:

ggg XydV = ( (‘ 2 (Xlwz) dz o\yd

JO JRJb

e P

5 > &rg® z| 1= Wﬂ\ydx = S ) &2y~ ) dy dx = S S,! x?%—s.b 9797 dgdx
_.Sa X2 (y- 42 2+13 H_“l”a,x g x‘(z 5;] @i’-z,)_.xz.(x-xz ..z_spsj dx

= §0 2452~ 53+ Ixtix =2 ' Yo pih=3
R R Ty L)
‘ Q:_"o3
@ =, 1= LS = ) | "
‘ -2- d'é dgdx 4 - P=‘éwce
B Zsingp dp dpab A
@ 2? ~av= psm pdey 2 '
91: 1-)(7.__,)‘24,&" =4 z—z—- S\'\\e LIJ’@.-_-g
2 @D*= "‘z"iz ’ / C 2+ @‘3)7"*4 p=o ¥
= 2 7ol sl Al
~=o '5-0_’_’__»‘ bso XYY t@ z)- 2 @m@“ (?@sq,_a)z=4 )
i Cerller (0,0,2) Tt plosly — XpLSQT A=
T2 j Fadwis 2 N 74 /
-Z'%:—Iﬂl’.' —_ y4 Of : ot p‘Z. -_;«éas‘e —7!2—_- ﬂcossg
. L AL . ‘lu
o=t~ Y J »
. : L se
S = S \?- ( @cosq)(eZsmq:d(?d\de)\ =S \ F csesmy 4 d®
) 7 } =T

p 2 ®SQ SN

:_.é_ ({ @ Se S\n'edq 4o _: ..fg_a ms‘@l: /o)

W’fe cm‘ero%gnvdy s atcenter ok spheve by Symmchyso N e-aZL 7 S=Eh=le
— ()3 - ’ j ) {’9 | 3 ;
T . lell
=0 VY © ek the wheyral is enbky over Y4 the sphere , ytelding i




MAT2500-02/03 02S Test> (rokehome) Answer (2)

9} k\ 2 isy I[.%
@4 S g‘ SH xydzdxdy b)d" :h ey
goo ‘rg 0
1%" B
A T
N Z amo Xy
X2 ’X-l - (‘\‘3 _99)
Z2ix=x Z
L ° -_\_@2.33) I\

= B(3h) -

— 3
N 21y=%x2 FAYS 2 2

Y=z Z B 3 ,
X—l 2 3 k4
1 ) —-;(éf'*z--'%-*%)‘ e
(! ‘ ‘ AT WA S i 1
=G A (-t peaze H(3-FEP)N - (3 e)= ]
& Y oy Sy
z= [Gyt= s ’f RyErs g e —
v Ead A I - - - 17
S o
Xerybe | (ru 1o o AU |
Wy =3 (=do 0=z Il
K ; e
. ) ‘
)y = g‘ S Sr 1 (rdedrd®) = g rdzdr ur) rz[ e = -zo‘g\ r(Z‘:: ac
= zrrcg 2= ar(g-n=] AT\ —————
. zr X =
Cxav- ¢ ( il Coﬁe\(r‘dzd(‘de) = (Wmseo\e C r2dzadr ? L*:-\—J
E ‘0 W Jr >0 « N /¢ ( €AY aStKS'mlﬂJ
( A = +<mﬁ( W:. O Sroro (D\'uhona\
%ggd\/-‘— So ;, ;f G 6)(raa HUEL wasmédb K T iz J 5ymmetry
) 2 27 £l W ‘k 4
&SSZ“‘V’ CU e (roededel - zwg 2| ¥ 4r ~’n'§ g-dr¥ar= sngf| % (u,—t)
[ EEANA 4 g_r
2 TS 37 = 2.4\ /tm abaut nnln\-\

see dbove d.tQSmn




MAT2500 -02/03 025 Test 3 (Takehome) Answers (3)
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